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CS Java 02 &-st T2 0| Ald A=

public class Test {
public static void main{String[] args) 4
int ar[] = {10, 20. 30, 40, &0}
int sum =0, a= 100 b = 0.

try |
for{int i = 01 < arlength i++) {
sum += ar[il:
t

Systemn, out, printin{sum);
} catch (&rraylndexOutOfBoundsException e)
Systemn, out, printin{"Array Index Out Of Bounds
Exception™.
b
try o
float z=a /b
Systern, out, printinz);
} catch (ArthmeticException e) {
Systemn, out, printlng"&rithmetic Exception™:

b
3
3
@ 100
0.0
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Array Index Out Of Bounds Exception
® 150
Arithmetic Exception
@ 150
/ by zero at Test.main(Test.java:14)
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19. Ot& C Z=23o| A3

#include <stdio.h>
int funclint n) {
iffln <= 13
returnind;
else

i

int main{void) 4
intn =T
int i
int result = 0

printf{"3%d", resulth
returnd 0);
b

return{funcin - 1) + funcin - 2%

forfi = 00 < ni++)
result += funcd)
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